1. Sergey Osintsev (Russia)
Composing Tourney of FRME, 2021, 2 prize
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Logical try 1.Kf7? Nd5! 2.Kxe6 (2.g3 h4! 3.gxh4 Nxf4=) 2...Nxf4+ 3.Kd6 h4! 4. Kc6 h5 5.Kd6 h3! 6.gxh3
h4! 7.Kc6 Ne6 8.Kd5 (8.Kd7 Nc5+ 9.Kc8 Nxa6=) and if 8..Nf4+? 9.Kd6! Nd5, then 10.b7+! (not
10.Kxd57=) 10...Kxa7 11.Kxd5+-, but 8...Nc5! 9.Kxc5= stalemate, there is no f5 pawn on the board! (mar,
Ha gocke Het nemku f5!) 9.b7+ Nxb7!=; 9.Kd6 Nxa6! 10.Kc6 Nb4+!=

1.Kf6! Ng6! 1...Nd5+ 2.Ke5! Nxb6 3.Kxe6 Nc4 4.5 Ne3 5.g3! (5.f6? Nxg2 6.Kf5=) 5...Ng4 6.f6+-

2.f5!! White paradoxically creates a passed pawn for black (Genble mapamokcanbHO CO3AI0T VTSI YEPHBIX
npoxoanyto nemky)! Logical try 2.Kxe6? Nxfd+ etc; 2.g3? h4! 3.gxh4 Nxf4=

2...exf5 3.Ke6 There was just a pawn on this square! (Ha 3Tom mosie Tonpko uTo Oblia memnikal)

3...Nf4+

4.Kd6 h4

5.Kc6! Ne6

6.Kd5! Nf4+

7.Kd6 h6

8.Kc6 Neb6

9.Kd5 Nf4+

10.Kd6 h5

11.Kc6 Ne6

12.Kd5 Nf4+

13.Kd6 h3

14.gxh3 h4

15.Kc6 Ne6

16.Kd5 Ng7 After 16..Nf4+ 17.Kd6+- the remaining f5 pawn brings black a loss (octaBimasics Ha 10CKe
nemka f5 npunocut yepHbiM npourpsim); 16...f4 17.Kxe6 f3 18.Kd7(d6) 2 19.Kc7 f1Q 20.b7+ Kxa7
21.b8Q+ Kxab 22.Qb6#

17.Kd6! Lost of time 17.Kc6?! Ne6 18.Kd5 Ng7 and the position will be repeated.

17...1f4

18.Kd7!+- 18.Kc7? Ne8+! 19.Kc8 Nd6+ 20.Kd7 NbS! 21.b7+ Kxa7 22.Kc8 Nd6+ 23.Kc7 Ne§(b5)+
24 .Kc8 Nd6+= perpetual check.

Systematic movement, “the effect of foresight” (Cuctemarnueckoe asmxenue, «d3PQGexT MpeaBUICHUS ).



2. Sergey Osintsev (Russia)
UAPA-14 Section Al: Win
2021, Prize

4+10 black move +

White ruins Black’s Fortress (Tema: pa3pylienue Kpenoct).

1...Rb1+ 2.Kb4! 2.Ka4? b2! 3.Qxf5+ g6 4.Qd7+ Bf7! 5.Qxf7+ Kh6 6.Kb3 Ral! 7.Qf4+ Kh7 8.Qc7+
Kho6=

2...Ba3+! 2...Bd2+ 3.Ka4 b2 4.Qxf5+ g6 5.Qxc2+-

Thematic try 3.Ka5? b2! 4.Qxf5+ g6 5.Qd7+ Be7! 6.Qxe7+ Bf7! 7.Qxf7+ Kh6 8.Qf4+ Kh7 9.Qc7+ Kh6=
Having sacrificed the Bishops, Black freed the a-file. Black has two fortresses: the black King with pawns
successfully opposes the white Queen and Knight, the Rook and pawns mutually defend each other. White
cannot strengthen his position (ToxepTBOBaB CIIOHOB, Y€PHBIE OCBOOOUIIN JTUHUIO «a». Y UEPHBIX JBE
KPETOCTH: YEPHBIA KOPOJIb C TENTKAMH YCIICITHO MPOTUBOCTOUT OCNIbIM ()ep3t0 U KOHIO, JIAJhs U MEIIKH
B3aMMHO 3allMIIAIOT APYr apyra. bemnble HE MOTYT yCHIIMTH CBOIO mo3uiuio). It is impossible 10.Qxc2?7?
Ral+ 11.Kb6 b1Q+—+

3.Ka4!! The better this move is, it will be revealed later (uem mydrie 3TOT X011, CTaHET MOHSATHO MO3KE).
3...b2! 3..c1Q 4.Qxf5+ g6 5.Qf7+ Kh6 6.b8Q Qc6+ 7.Kxa3 Qc5+ 8.Qb4 Qcl+ 9.Kad Qc6+ 10.QbS
Qxb5+ 11.Kxb5 b2! 12.Qf8+! Kh7 13.Ne4!+-

4.Qxf5+ 4.b8Q7?? Be6! 5.Q5e8 Bf8!! 6.Qxe6 Ral+—+

4...26 5.Qd7+ 5.Qxc2? Bd6! 6.Ne4 Rfl 7.Qxb2 Rf4 8.Qh2+ Kg7 9.Qb2+ Kh7!=

5...Be7! 6.Qxe7+ 6.b8Q7? Bf7!! 7.Qxb2 Rxb2 8.Qxe7=

6...Bf7! 7.Qxf7+ Kh6

8.Qf8+! Thematic try 8.Qf4+?! Kh7 9.Kb3? c1Q 10.b8Q Qd1+ 11.Kb4 Qd2+! 12.Kb3=

8...Kh7 9.Qe7+ Kh6

10.Qxe3+ Kh7

11.Qe7+ 11.Kb3? c1Q 12.Qe7+ Kh6=

11...Kh6 12.Qf8+ Try to destroy the fortress with the help of Knight sacrifices are ineffective (monbrtku
pa3pylIUTh KPEMOCTh C MOMOILBIO KepTBONpUHOLIEHUI KOHS HeapdexTuBHbl) 12.Nf5+?! gxf5 13.Qf6+
Kh5(h7)= or 12.Qh4+?! Kg7 13.Nh5+?! gxh5 14.Qg5+ Kf7!=

12...Kh7 13.Qf7+ Kh6

14.Qf4+! Kh7 Having eliminated the pawn, the Queen came back, and White carries out the main plan,
prepared 12 moves back by the move 3.Ka4! (yauuroxkuB mnemky, ¢dep3b BepHyJca, U Oeibie
OCYIIECTBJISIIOT OCHOBHOM TUTaH, MOATOTOBJICHHBIN 12 X0/10B Hazag xoaom 3.Kpa4d!).

15.Kb3! 15.Qc7+?! Kh6 16.Kb3? c1Q 17.b8Q Qe3(d1)+ 18.Qc3 Qe6+! 19.Kb4 Qe7+! 20.Kb5 Qd7+!
21.Qc6 Qxc6+ 22.Kxc6 Rel+ 23.Kd5! b1Q 24.Qh8+ Kg5 25.Ned+ Qxed+! 26.Kxed=

15...¢1Q 16.b8Q Qd1+

17.Kb4 Qa4+! or 17...Qel+ 18.Kb5 Qa5+ 19.Kxa5+-

18.Kxa4 Ral+ 19.Kb5! b1Q+

20.Kc6! Qc2+ 21.Kd7! Rd1+

22.Ke7! Qc5+ 23.Kf6! Qc6+

24.Kg5 Rd5+ 25.Kxg4 Qe6+

26.Kf3+-

The logical study, “the effect of foresight™.



3. Sergey Osintsev (Russia)
ChessStar, 2020, 1 prize

6+9 +

1.Nc4+!! Kb4 1...dxc4 2.Ra3+ Kb4 3.Be7#; 1...bxc4 2.Ra3+ Kb5 3.Rh7 c3 4.d3 Kb4 5.Be7+ Kb5 6.Rh6
c2 7.Rb6#

2.Ra3! The Knight is now under three captures! 2...Kxc4 3.d3+ Kb4 4.Be7# model mate; 2...bxc4 3.Be7+
Kb5 4.Rh6 ¢3 5.d3 Rg7 6.Rb6#; 2...Refl 3.Be7+ Kxc4 4.d3# model mate; 2...dxc4 3.Be7#; 2...e4 3.Be7+
Kxc4 4.d3+ exd3 5.Rh6 b4 6.Rc6+ Kb5 7.Rc5#

2...Rg7+!

3.Bxg7 Rfl

4.Bxe5 Rf7+ 4...bxc4 5.Bd6+ Kb5 6.Rh7 ¢1Q 7.Rb7+ Kc6 8.Rab#

5.Kb6 Rd7

6.Bxd4 threat 7.Bc5#

6...Rb7+! 7.Kc6!! Refusal from capture! Logical try 7.Kxb7? e1Q 8.Bc3+ Nxc3 9.Ne3+!? Qxh4 10.Nc2+
Kc5 11.Rxc3+ Kd6!—+

7...Rc7+ 8.Kxc7 the King accepted the sacrifice, but on an adjacent square!

8...e1Q 9.Bc3+! 9.Kd6?! bxc4! 10.Bc5+ KbS 11.Rh8 ¢3! 12.Rb3+ Kc4 13.Rb4+ Kd3 14.Rd4+ Kc2=
12.Rb8+ Kc4 13.Rb4+ Kd3=

9...Nxc3 9...Kc5 10.d4++-

10.Ne3+!! Offer to choose any Rook! 10.dxc3+? Kc5=

10...Qxh4 10...Kxa3 11.Nc2+ Kb2 12.Nxel+-

11.Nc2+ Ke5 11...Kc4 12.Rxc3# model mate.

12.Rxc3+ Qc4 13.d4#! Ideal mate.

The logical choice in the study on the mat.



4. Sergey Osintsev (Russia)
MT S. Zakharov, 2021, 3 prize

6+4 +

1.g6+ 1.Nxg8? Qb3+ 2.Kg2 Qxa4 3.Nfo+ Kgb6=

1...Kh8 1...Kxh6 2.Rh4+ Kg7 3.Rh7++-

2.g7+ 2.Nxg8? Qb3+ 3.Rc3!! (3.Kg2? Qxad4 4.Nf6 Qa2+= "mad" Queen!) 3...Qxc3+ (3...Qxa4? 4 Nfo+-
and the c-pawn prevents the queen from becoming "mad") 4.Kg4! QeS5!! the only way to perpetual check
5.Nf6! Qe6+! 6.Kg5 QeS+ 7.Kgd Qe6+=

2...Kh7

3.Nxg8! Qb3+

4.Kh4!! Under the capture of the Rook with a check! Inaccurate 4.Kg4?! and the Queen will choose the
Knight 4...Qxg8! 5.Rg5 and the white King was under checks 5...Qe6+! 6.Kf3 Qf6+ 7.Kg4 Qe6+ 8.Kh4
Qel+! 9.Rg3 Qhl+! (9...Qe7+? 10.Kh3!+-) 10.Kg4 Qd1+= perpetual check; 4.Kg2? Qxa4 5.Nfo+ Kxh6
6.28Q Qed+! 7.Nxed4= stalemate! 4. Kh2? Qxa4 5.Nt6+ Kxh6 6.g8Q Qh4+!="mad" Queen!

4...Qxa4+ 4...Qxg8 5.Rg5!+-

5.Kg5 Kxg8 5...Qd1 6.Nf6#! model mate.

How to get to the eighth horizontal? 9.Rf5? or 9.Re5?

The right decision 6.RaS!! Doubling the theme - the capture of the second Rook by check!

6...Qxa5+ 7.Kg6 There is no defense against checkmate, black is powerless with an extra Queen on an
empty board!

7...c5 8.h7#!



5. Sergey Osintsev (Russia)
Gravure, 2020, 2 prize

4+6 -

1.f7 Be7! 1..Nf4+ 2.Kgl Bb6+ 3.Kh2 Bc5 4.Re8+ Kb7 5.h6=

2.h6! Nf4+ The white King has a chance to be active and help the pawns 3.Kf2? Bc5+! 4.Kg3 Nh5+
5.Kxg4 Nfo+ 6.Kf5, but 6...Nh7! 7.Kg6 Bd3+-+ and black wins.

3.Kgl! BeS5+ 3..Nh3+? 4. Kg2!=

4.Kh2 g3+!

5.Kxg3 Nh5+

6.Kh2!! Anything but this! 6.Kh4? Nf6! 7.Re8+ Bxe8! 8.h7 Bf2+ 9.Kg5 Nxh7+—+ or 6.Kg4? Nfo+ 7.Kf5
Nh7—+ Loses also 6.Kg2? Nf6! 7.Re8+ Bxe8 8.h7 Bco+—+ or 6.Kf3? Nf6! 7.Re8+ Bxe8 8.h7 Bco6+—+ or
6.Kh3 Nf6 7.Re8+ Bxe8 8.h7 Bd7+—+

6...Nf6

7.Re8+!! Bxe8! 7...Kb7 8.f8Q Bxf8 9.Rx{8=

8.h7!! 8.fxe8Q+? Nxe8 9.h7 Bd4—+

8...Bd6+

9.Kgl!! Bxf7

10.h8Q+ Ne8! 10...Ng8 11.Qhl+ Kb8 12.Qc6=

11.Qal! 11.Qh1+? Kb8 12.Qc6 Nc5!—+

11...Bb3

12.Qh8! Be5+

13.Kh2! Tries 13.Kf1? The white King is in check 13...Bc4+! 14.Kel Bb5—+ or 13.Kg2? Bd5+! 14.Kh2
Bco—+

13...Bf7

14.Qal Bd6+

15.Kg1! Try 15.Kh3? The white King is in check 15...Be6+! 16.Kh4 Bd7—+

15...Bb3

16.Qh8= Pendulum positional draw. Logical choice of moves by the white King.



6. Sergey Osintsev (Russia)
MT Y. Belyakin, 2021, 1 prize
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1.g7 1.Rxc3? ¢1Q 2.Rxcl Qa2#

1...Qg1 2.Nb6+! A safe choice for whites and not at all dangerous for blacks 2.Nc7+? Ka7 3.Nb5+ Kb6—+
2...Ka7 After capturing 2...Qxb6 White has the only way to save himself 3.g8Q+ Bd8 4.Qg2+ Ka7
5.Qg7+ Qc7 6.Qd4(gl)+ Qb6 7.Qg7+ Bc7 8.Rxc3 Qxa6+ 9.Kb2 Qb7+ 10.Kcl! Qhl+ 11.Kb2 Qb7+
12.Kc1= At the beginning White gives perpetual check, then Black has to make perpetual check!

3.Nc8+ Ka8 4.Nb6+ Kb8 5.a7+! Permutation of moves loses 5.g8Q+? Qxg8 6.a7+ Kb7! 7.a8Q+ Qxa8
8.Nxa8—+ no check!

5...Kc7 6.g8Q! Qxg8 7.a8Q Qxa8 8.Nxa8+ with check!

8...Kb7 9.Rb3+!! Farsighted stalemate game! Whites sacrifice a knight first, thematic try 9.Rxc3? f3
10.Kb2 2 11.Rf3 Be7! 12.Rxf2 Ba3+!—+

9...Kxa8 10.Rxc3 10.Ra3+? Kb7! 11.Rxc3 13 12.Kb2 f2—+

10...f3 10...Be7 11.Kb2=

11.Ng5! 11.Kb2? 2 12.Rf3 Kb7 13.Nf6 Bg5—+

11...Bxg5 12.e7! Second Knight and pawn sacrifice!

12...Bxe7 13.Rxf3 Thematic try 13.Ra3+?! Bxa3?= stalemate or 13...Kb8? 14.Rxf3=, but 13...Kb7!
14.Rxf3 c1Q—+; also no chance 13.Kb2? Bf6 14.Kc1 2 15.Rf3 Bg5+—+

13...c1Q 14.Rf8+ Ka7 15.Ra8+ Kb7 16.Rb8+! The Rook is "mad", but checks must be given carefully,
16.Ra7+? Kc8! 17.Ra8+ Kd7! 18.Rd8+ Ke6 19.Rd6+ Kf7—+

16...Kc7 17.Rc8+! Kxc8= stalemate.

13...c1R! but... 14.Ra3+! Bxa3= again stalemate. Refusal from capture will result in the loss of material,
14...Kb7 15.Rb3+ Kc6 16.Rxbl Bfo+ 17.Ka2=



